correction

1 - tick (X) the appropriate answer : (1 mark )
Seven years old.

The slide The bal]
IT Language : ( 8 markes ) : RN
1 - Fill in the blanks with two wor'ds from *rhe box ( 2 marks)

happy - play - game -

2 - Clr'cle ’rhe alternative : ( 3 mar'ks )

When is the break time 2 o,

3 - Reorder the letters To__.label ’rhe plcTur'e ( 3marks )
doll - playing / games ‘;:_-x .......

IIT writing : ( 6 marks) '

II with my friends in the playground. We run, kick the

ball, and have so much fun fogether.
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